






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120













Find the TRIANGLE (?)

(A) 25

(B) 26

(C) 27

(D) 28 



Pinki ranks 16th from the top and 15th from the bottom in a class. How 
many students are there in the class?

प िंकी एककक्षा में 16 वी िंऔर नीचे से 15 वी िंरैंक  र है। वहााँ कक्षा में पकतने छात्र हैं?

1. 30 
2. 31
3. 32 
4. Cannot be determined  /पनर्ााररत नही िं पकया जा सकता है
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Statements: कथन :
Some politician are sinister./ कुछ राजनेता पापी होते हैं।

All sinister is a bureaucrats. / सभी पापी नौकरशाह हैं।

Conclusions: ननष्कर्ष:
I. Some bureaucrats are not sinister./ कुछ नौकरशाह पापी नही ीं हैं।

II. No politician is a bureaucrats. / कोई भी राजनेता नौकरशाह नही ीं है।

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Find the option which should replace (?)

25 : 64 :: 35 : ?

(A) 64

(B) 81  

(C) 72
(D) 100



Find the triangle :-

(A) 09

(B) 10

(C) 11 

(D) 12
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Find the odd (?)

(A) Vitamin A : Loss of vision

(B) Vitamin B : Beriberi

(C) Vitamin K : Haemorrage

(D) Vitamin D : Peralysis
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A is brother of C . D is wife of M who is only son of N 

.C is daughter of D. How is N related to A ?

A, C का भाई है। D, M की  त्नी है जो केवल N का  ुत्र है। D, 

D की बेटी है। N, A से कैसे सिंबिंपर्त है?

(A)Father /  ा ा

(B) Grandfather / दादा

(C) Uncle / चाचा
(D) CND / CND
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Find the option which should replace (?)

(A) 25

(B) 20

(C) 22

(D) 13
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Find the in Dictionary order :-

1. Wrist / कलाई

2. Nails / नाखून

3. Shoulder / किं र्ा

4. Elbow / कोहनी

5. Palm / हथेली

6. Fingers / उाँगपलयााँ

A- 1 ,2,4,3,5,6
B- 3,4,1,5,6,2
C- 1,2,3,4,5,6
D- 2,1,4,3,5,6



Find the missing (?)

120 * 256 * 32 *40 * 88

(A) - ÷ = +

(B) + = - ÷
(C) + - ÷ =

(D) + ÷ - =
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Find the missing (?)

4 @ 5 = 209

6 @ 7 = 601

8 @ 2 = ?

(A) 620

(B) 495

(C) 540
(D) 536
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Find the missing (?)

RELATIVE  =  MFSCVHYL

NUMBERED =?

(A) NVOCFSFE
(B) NVODGGHU
(C) NVOGDSFE 
(D) NVOCFDGG 
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Find the missing (?)

47 , 57 , 69 , 85 , ?

(A) 109
(B) 101

(C)   92
(D)  95
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